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Windows 98
(A) Windows 98
(B) Windows 98
(C) Windows 98
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(C) 258.24.38.166

(©) FTP

BASIC PRINT -272+8 MOD 5

(A)7 (B) -4

BASIC
A$="DICTIONARY”
B$=MID$(AS$, 2, 7)
C$=RIGHT$(B$, 3)

PRINT C$

END

(A) DIC (B) ONA
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(C) TIONA
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BASIC
N=6
SELECT CASE (N)
CASE 1
PRINT “A”
CASE 2
PRINT “B’
CASE ELSE
PRINT “C”
END SELECT
END
(A) A (B) B

BASIC

DIM A(5)

A(1)=1

FORN=2TO5
A(N)=A(N-1)+N

NEXT N

PRINT A(5)

END

(A) 15 (B)5

BASIC
For K=1to 3

For M=K to K*2

Print “*”;

Next M
Next K
END
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BASIC (1* 2)- (2* 3)+(3* 4)-(4*5)+(5*6)
T=0
S=1
FORN=1To5
T=T+S*N*(N+1)
S=
NEXTN
PRINT T
END
(A) -1+S (B) S-2 (C) N-S (D) -1*S
Microsoft Excel Al A2 A3 A4 A5
(A) SUM(A1:A3) (A1+A2+A3)/3
(B) AVERAGE(A1:A4) A1+A2+A3+A4
© COUNT(A2:A5) 4

(D) MAX(ALA3) A1*A2* A3

Excel






